Solution to Johnny Got His Gun

By Hugh Cheung

Each of the clues give you a word that includes a body part.
Fill in the blanks with the remaining letters after removing that part.

Barney Stinson would approve of Hercules’ type of journeys
=>LEG ENDARY : 1=D,2=Y

A place to get drugs
=>PHARMACY : 2=P,3=H

A messenger; sounds like a sushi transporter
=>CONV EYERBELT : 5=0,6=N

What you get from a camera; not a measure of distance
FOOTAGE : 7=G,8=E

Branded goods that share a root with Shakespeare’s Venetian character
MERCHANDISE : 9=M,10=R, 11 =1

When plates collide
EARTHQUAKE : 12=T,13=A, 14 =K

The numbers under the blanks correspond to the numbers on the bottom, which can be filled out to give the clue:
PORTRAYED MONTY PYTHON KNIGHT

Keeping with the theme of the puzzle, this refers to the Black Knight from Monty Python and the Holy Grail, a character
who kept fighting despite having his arms and a leg chopped off.

This character is portrayed by: JOHN CLEESE
We also would have accepted the actor who portrayed the 1-legged version: RICHARD BURTON



